TAYPEE UNIVERSITY O INFORMATION TECHNOLOGY, WAKNAGHAT
TEST -TEXAMINATION- 2025
B. Teeh-V Semester (BCE/ACE Minor)
COURSE CODE(CREDITS:I8BITECS12 (3) MAX. MARKS: 13
COULRSE NAMLE: Microprocessor and [nterfacing
COURSEINSTRUCTORS: Dr. Shweta Pandit VIAX, TTMI: T Hour

Note:(a) il questions are compulsory.

thy The candidate is allowed to make Suitable numeric assumptions wherever required

Jor solving problems

Q. No 7 7 Question €O Marks
Q1 a}  Analysze the 8086 microprocessor addressing modes to identify scenarios L
where certain addressing methods become invalid. Justify why these
modes are not permissible and illustrate your explanation with suitable
examples ol invalid instruetions. (1]
b) What is the purpose of a scgment register in the real mode operation of [1.5]
the microprocessot? Provide the default mapping of segment and offset
registers addressing,.
¢) Draw and explam the architecture of the 8086 microprocessor. Describe [2.5]
in detail how the instruction execution pipeline utilizes various busces for
o - data wransfer and control. 7 7 ) S
Q2 a) ASCll-coded data for numbers 0 t0 9 is stored in a table located at a [1.5-0.5]
memory location starting from 1000: 1000H. Write an assembly language
program that uses the XLA'T instruction to convert the unpacked BCD
number 9 into ASCll-coded number. Store the ASClE-coded data at the
memory  location 2000:2000H. Write proper comments with  ecach 2]
instruction used wn the program.
by [se tables below to convert: 3
(1) 8AIE3420H machine language instruction 1o assembly languazge
(i MOV BX. [BP-ACO0H]| assembly language instruction to machine
language instruetion

(Note: Opeode for MOV 15 100010: #oeee
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Q3.

b3

¢)

a) Given the Flag register structures of 8G83 and 8086 microprocessors.

analysze how the additional flags in 8086 cnhance s lunctionality
compared 1o 8085, Usce tabeled diagrams to justity your answer.

Suppose that DS 1300HL 55 [400H. BP 15001, and ST - 010011
Determine the address accessed by cach of the following mstructions.
assuming real mode operation:

(1) MOV FAX, [BP-200H] iy MOV ALIBP-SE200H] (i) MOV

ALSI-01001H]
Write an assembly language program that adds AXLBX. CXL DXL and

BP. Save the higher order word of the sum 1n ST and lower order word of

the sumein PLregister. Write proper comments with cach instruction used
in the program.
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